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(56) In a computer,if a logical left shift of the operand occurs,its
lowest bitis_ [1 A) 1B)unchanged C) 0 D) random (57) The
CPU is composed of two components,whichare [
[1))arithmetic logic unit and controller [J )memory and controller

[1 )arithmetic logic unit and memory [ )controller and storageltems
58 and 59 are based one the following hash table.Hash function is:
h(key) = key mod 13Collisions are solved by using open addressing,
linear probing. (58) Load factor a of the hash table is
approximately 1 A)0.28B) 0.35C) 0.54 D) 0.71 (59) How
many key comparisons are needed in searching for key value

387 [0 A)1B)2C)3D)4(60) Which of the following
operations belongs to message passing? _ [1 A) read and write B)
save and receive C) wait and signal D) P and V (61) If file A has the
capability of 724,the same group’ susersoffile Amaydo  [1 A)
read A only B) write A C) execute A D) non-operation (62) In
which phase of the software engineering process is the Software



Requirements Specification developed? [T A) definition phase
B) engineering C) maintenance D) development phase (63) The
prototyping method is a dynamic design process,which requires
people who use prototyping method to have the following capability
of [ A) proficient program expertise B) immediately acquire
requirement C) coordinate &amp. organize eloguently D) handle
tools smartly (64) For relation R where primary key contains
multiple attributes,no non-key attribute should be functionally
dependent on a part of the primary key. This relation R is at least
in____ [0 A)1INFB) 2NF C) 3NF D) BCNF (65) Which of the
following statements about object oriented databse is not

correct?  [1 A) Each object has a unigue object identity in the
system. B) Encapsulation and inheritance are two important features
of object oriented database. C) A subclass can inherit the attributes
and methods of all its superclasses. D) A subclass includes the
attributes and methods of all its subclasses. (66) Local bus can
Increase the data throughput. The bus that is most frequently used
IS [0 A)VESAB)EISA C) MCA D) PCI (67) Most frequently
used algorithm f or page replacementis_ [1 A) LRUB) FIFO C)
OPT D) PPT (68) The following three concepts are essential to the
OSI model:service,interfaceand 1 A) networks B) applications
C) protocols D) layers (69) LANSs can be connected by using
bridges,which operate inthe_ [1 A) physical layer B) data link
layer C) network layer D) transport layer (70) TCP service is
obtained by having both the sender and the receiver create end
points,which are called 1 A) network address B[ supernet



address C)socket D) IPaddress I O 0 O O (WO OO0 OO0
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